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The purpose of the document is to point out one issue on RA procedure to be clarified.

Clarification on message 2 transmission
In [1], it has pointed out that 
if we consider a load of up to 150 access/sec and a collision probability of 5*E-3, we need to have

1) 5 aRACH’s with each 64 random signatures (resulting in 320 signatures)

2) 10 aRACH’s with each 32 random signatures, and 1 bit used for other information

It implies that we should consider to have at least 5 PRACH in order to meet this limits. As a result, we think that we should clarify how the multiple PRACH and the message 2 are linked. That is, given that there are 5 PRACH over 10ms, more than one PRACH could be located at one TTI. It should be noted that all PRACH, of course, can be scattered over 10ms but this scenario which has multiple PRACH at one TTI should be also considered. Accordingly, following alternatives could be foreseen as figure 1.
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Figure1. Two alternatives of linking between PRACH and message 2
Since it is expected that the number of RA responses in message 2 be normally small, alternative 2 is preferable to get the multiplexing gain.

However, if we adopt alternative 2, one problem could be raised as follows. As specified in [2]. the message 2 conveys at least
· RA-preamble identifier

· Timing Alignment information

· Initial UL grant

· Temporary C-RNTI

In this case, if two UEs pick the same signature but different RACH resource, the eNB should in principle distinguish them. Since they unfortunately selected the same signature regardless the RACH resource, the eNB can not identically address their RA-responses in message2 to be transmitted as shown in figure 2.
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Figure 2. Problem with alternative 2
Proposal:
Message 2 conveys “PRACH identifier” in order to identify the UEs with same signature but different PRACH
Conclusion
In this paper, we propose the following points on RA procedure
· In order to identify the UEs with same signature but different PRACH, message 2 also conveys “PRACH identifier”
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